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* Note
Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : General Awareness

Q.1  What is the main cause of different seasons on the Earth?
Ans < 1. Earth's distance from the Sun

/5 2. Earth's rotation
25 3. Solar flares

«* 4. Earth's tilt and revolution around the Sun

Q.2 ISR BT SIS AN UTd (Desert National Park), Tsd & b1 fore & fRua 872
Ans 2 1. SGTR 3R TSR

X 2. ! 3R YR

X 3. IETPR 3R oG

X 4. AR 3R RAR

Q3 {5y ARuEy i Ui, fRivey g 3t e R 39F 14 & g 1958 & Ada
REPR Yo fovar mane
Ans o 1. TeRe TR (Frederick Sanger)

X 2. Jvmfeis Shepfer (Rosalind Franklin)

< 3.TSd3 §aR (Eduard Buchner)
X 4. WW(CarI Neuberg)

Q.4 In which Schedule are the forms of oath and affirmation for various constitutional
offices specified?

Ans X 1.Fourth Schedule
25 2. Fifth Schedule
25 3. Tenth Schedule
" 4. Third Schedule

Q.5 Who predicted the existence of a new particle, now known as the neutrino, in 1931,
using the conservation laws of energy and momentum for B-decay?

Ans #< 1. Paul Dirac
«* 2. Wolfgang Pauli
#% 3. Enrico Fermi
25 4. James Chadwick
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Q.6

Ans

Which index combines life expectancy, education and per capita income to measure a
country’s human development?

25 1. GDP per capita
%" 2. Human Development Index (HDI)
25 3. Consumer Price Index

< 4. Gini Index

Q.7

Ans

Which of the following Articles of the Indian Constitution specifically deal with the
establishment of Tribunals for administrative and other matters?

«" 1. Articles 323A and 323B
25 2. Articles 32 and 226

25 3. Articles 356C and 360D
25 4. Articles 14 and 15

Q.8
Ans

Which plateau is NOT a part of the Patland series?
#< 1. Ranchi Plateau

" 2. Deccan Plateau
/5 3. Malwa Plateau
25 4. Hazaribagh Plateau

Q.9

Ans

fewaR 2024 ®, URT & &1 HAEd A fFaq Su-30MKI faul 9t Wiie & forw Ta.u.wa.
(HAL) & TTY TP ey IR gEier fee?

X 1.5
X 2.15
o 3. 12
X 4.8

Q.10

Ans

In which venue was the World Health Summit (WHS) Regional Meeting 2025 hosted for
the first time in India?

#5 1. India Expo Centre, Greater Noida
" 2. Bharat Mandapam, New Delhi
25 3. Ashoka University, Sonipat

#% 4. Pragati Maidan, New Delhi

Q.11
Ans

What is the primary objective of the Waqf (Amendment) Act, 2025?
25 1. To restrict the establishment of new Wagf properties

" 2. To enhance transparency and inclusivity in the management of Wagf properties
25 3. To nationalise all Waqf properties under central government control and conduct an audit of new Wagf properties

25 4. To repeal the Wagf Act, 1995 and abolish Wagqf Boards

Q.12

Ans

Which Indian female shooter won a silver medal in the women's skeet event at the ISSF
Junior World Cup 2025?

25 1. Maheshwari Chauhan
25 2. Parinaaz Dhaliwal

" 3. Raiza Dhillon

X 4. Ganemat Sekhon

Q.13

Ans

Which of the following Indian startups was selected to develop the country's first
indigenous large language model under the India Al Mission April 20257

«" 1. Sarvam Al
25 2. Al4Bharat
25 3. Infosys

5 4. Wadhwani Al
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Q.14

Ans

Which policy was adopted by the British in the post-1857 revolt in India due to distrust
of Hindu-Muslim unity?

25 1. Doctrine of Lapse
#5 2. Forward Policy

2% 3. Subsidiary Alliance
«” 4. Divide and Rule

Q.15

Ans

TS 2025 W T B TS URA &1 TRN G- qomedt &1 7w w1 82
X 1. SDHIAR

X 2.5

X 3.7
& 4. YTTaRa

Q.16

Ans

22 T3 2025 B FUTHAT ot N5 A gRT fha= 3rya W= &1 Igure fHar wn?
X 1.110

% 2.100

o 3. 103

X 4.108

Q.17

Ans

USIgwRIl IS (Pazhassi Raja) 3MYFH 59 & TH @adl I A
X 1. TR
& 2. Pd
X 3. qaEn
X 4. 3y U™

Q.18

Ans

To adjust the screen resolution or change the desktop background in Windows, which
of the following would a user typically access?

X 1. This PC
/5 2. Documents
" 3. Settings
25 4.Run

Q.19

Ans

PM JI-VAN (99 S¢H-aTdTaRVT 3IHd B GV fHarvn) aier i oy ar=g @1 182
X 1.2018

& 2.2019
< 3.2020
X 4.2017

Q.20

Ans

Frafafed # 9 5w YR deve® JeTe ¥ WRA-gus g5l S8R B 99gd $A ard
NAVDEX 2025 ¥ fgwar ferar?

X 1.1CGS g9IdT (ICGS Sujata)
X 2. INS IS (INS Rajdhwai)
& 3.1CGS TR (ICGS Shoor)

X 4.INS dRT (INS Veera)

Q.21

Ans

Which Constitutional Amendment granted constitutional status to Co-operative
Societies in India?

501, 74" Constitutional Amendment Act, 1992
~2. 73" Constitutional Amendment Act, 1992
3. 97t" Constitutional Amendment Act, 2011
4
4. 86! Constitutional Amendment Act, 2002
~<
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Q.22

Ans

The of the Indian Constitution protects laws from being challenged in
courts under judicial review.

75 1. Eleventh Schedule
" 2. Ninth Schedule
2% 3. Fifth Schedule

25 4. Third Schedule

Q.23

Ans

What is the mandated time for the Public Information Officer (PIO) to provide
information?

5 1. 15 days for urgent matters
25 2. 60 days for all cases
«* 3. 30 days generally and 48 hours for life or liberty cases

25 4. 10 days for personal requests

Q.24

Ans

feforea sfear yfYy sifirca enyfieror srdwa (DILRMP) &1 e, fafkry ofty urfa
ga™ AT (ULPIN), Yf¥ e & =riar 3R sreri=r i & nur W fora s #t
T fafw ygam @ g2

X 1.10 3
X 2.12 3[dh
X 3.16 3D
o 4.14 30

Q.25

Ans

Which of the following statements about the National Rural Livelihoods Mission (NRLM)
is correct?

5 1. It guarantees minimum support prices for rural produce.
«* 2. It aims to organise rural poor into Self-Help Groups (SHGs).
/5 3. It offers 100 days of guaranteed employment to rural poor.

75 4. It provides direct employment in rural public sector units.

Q.26

Ans

The Planning Commission was the apex body responsible for formulating Five-Year
Plans. In which year was the Planning Commission of India established?

X 1.1948
& 2. 1950
X 3.1952
X 4.1951

Q.27
Ans

Which of the following was NOT a feature of the Green Revolution in India?

25 1. Increased use of fertilisers and irrigation
" 2. Expansion of agricultural land
2% 3. Mechanisation of agriculture

< 4. Use of high-yielding variety seeds

Q.28
Ans

Which of the following is true for Read-Only Memory (ROM)?

" 1. It stores the booting instructions permanently.
25 2. Itis volatile memory that stores data temporarily.
#% 3. It stores data that can be modified by the user.

< 4. It processes the logic operations.
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Q.29 TER-UfaER 91 ¥ AR & RM, FafafEd & ¥ F19-91 TR TR St Iy §912
Ans o 1. I

X 2.7y
X 3. %A

X 4. Hraar
Q.30 aﬂaﬁzo%ﬁgﬁfn%ﬁa(wsr)aﬂmﬁmmmmwﬁ

Ans ¢1,E{[<_:hﬂ
X 2. JgRg
X 3. foHar
X 4 fagn

Q.31 2025 ¥ T REBR U HA d1Q ged TR0 e, 5t T wiies R, aife,
oA SR ArfoTe Friwdl €, fFa YR Tsy A walta 82

Ans 71 IR UCY
X 2. ISR
X 3.f@R
X 4. AT TR

Q.32 Which movement marked Mahatma Gandhi’s entry into all-India politics?
Ans 25 1. Civil Disobedience Movement

" 2. Khilafat and Non-Cooperation Movement
75 3. Salt Satyagraha

/% 4. Champaran Satyagraha

Q.33 Which institution celebrated the Rashtriya Boudhik Sampada Mahotsav (RBSM) on 29
May 20257

Ans " 1. CSIR-Indian Institute of Petroleum, Dehradun
#% 2. Rajiv Gandhi Institute of Petroleum Technology, Amethi
25 3. Indian Institute of Petroleum and Energy, Visakhapatnam

#5 4. Indian Oil Institute of Petroleum Management, Haryana

Q.34 [y TIA AP 16N, HASI fay & gt 9o s fasrarsii S w&f¥a 411 afe a8 Arquer
ﬁmﬂaﬁﬁmaﬁwmﬁwﬁam at fquer ¥ 98 frax wafia ur?

Ans X 1. TS TR (Mohammed Ghori)
X 2. 4gqg TS (Mahmud Ghazni)
3. AR (Timur)
X 4. 35T AT (Ibrahim Lodi)

Q.35 In May 2025, India assumed the chairmanship of which regional organisation focused
on productivity enhancement?

Ans " 1. Asian Productivity Organization (APO)
#5 2. Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Cooperation (BIMSTEC)
25 3. South Asian Association for Regional Cooperation (SAARC)
25 4. Association of Southeast Asian Nations (ASEAN)
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Q.36 1923 ® 37y W= A WA Agiaqw Ugare JMT A Frafeafaa # @ frw urda wwita o Aedt
T e ot e

Ans X 1 WRdTCIH
X 2. DYD
X 3. sfifst

o 4. SIS

Q.37  fafafa & ¥ H19-11 TSy, e TS $t ST 9t & e ST o 82
Ans X 1.%xd

X 2. giamn

X 3.U9d

o 4. BURATG

Q.38 fmfafaa & Q #14, Ieia Tih Va I REPR Siaw 16T 3T URE Teie ur?
Ans X 1. 9fH dgadmr

X 2. qd Riy

X 3. s o

o 4. [a8TYE 3

Q.39 The element with atomic number 21 is
Ans #5 1. Calcium

¥ 2. Scandium
2% 3. Titanium
X 4.Zinc

Q.40 Y IHY A T AT T SaR-Ig WA fyare & g & g e 2025 # qamere # fa
3 T PRI 7 AMTUBTRS TR P a1t B1?

Ans X 1. SRV UG 3R ANTIS
X 2. fireiRe iR gy
o 3. TIRT 3R oy
X 4. AMTAS SR ARGR

Q1 fapu, FIUd AR B A TH AT = HI1 & 1T HHRT: 21,540, 21,760 3R 21,170 BT
o= fpam afg o & ofa & @y 21,490 8, o oy A B &7 iR fpamn 82

Ans 5 1.%392
o 2.3390
X 3.3391
X 4.3388

Section : Mathematics

Q2 frat 4= (% H), 5% aTfie IR TS B 3 A 4 Tuf H 22,280 B STCH?
Ans o 1.%1,900

7 2. 311,400
% 3.31,850
X 4.71,950
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Q.3
Ans

[147 + {29 + 2 x (4 - 8 )}] T UM T Do
K 1.8
X 29
X 3.3
& 47

Q4

Ans

TP Hfd WU | $EIR 6 km/hr B} 16 T SIT6T 8 MR IW AR | 12 km/hr B 160 F HigTe
Uy 31aT 8 | Wyl ar # IS d T (km/hr H) TG SR

X 1.4
X 2.10
X 3.6
o 4.8

Q.5

Ans

ﬁaaﬁwaﬂﬁq
1 tan0
tan‘0  sin0
X 1. sec?0
X 2.5in?0
+ 3 cosec’f
X 41

X cos20

Q.6
Ans

ABCD is a trapezium in which BC || AD and AC = CD. If ZABC = 45° and ZBAC = 104", then what is the measure of ZACD (in degree)?

X 1. 1140
X 2.130°

X 3. 117°
o 4.118°

Q.7

Ans

6974+ 6910 x 69~17 T U T PO
X 1.69736
o 2.697%1
X 3.69732
X 4.69721

Q.8

Ans

53 x 92 x 14, 52 x 142 x 19 3N 9° x 142 x 192 HT AYLAW FHATYTH (LCM) T BT/
& 1.5° x93 x 142 x 192
X 2.5%x9%2x 142 x 19
X 3.52x9%2x 142 x 198
X 4.52 x93 x 14 x 192

Q.9

Ans

13 U 3R 3 URye o1 P 2152 31 fe W9 Ft Bwa 21 ufd 09 0 81 ol @ 3k U
P PIAd 27 Ul IRrel 9 w1t 8, @ 18 U 3R 3 Uil &t F1ad 2165 g ST @1 12 99 3R
11 U &t ga siaa feat gift?

X 1.%481
2. 3486
X 3.3489
X 4.7483
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Q.10
Ans

The number of prime numbers lying between 402 and 409, both included, is:
o 1.1
X 24
3.6
~ 4.3

Qn

Ans

TP Jeaiarsl gRT 23 A # 997C ¢ 39d T 40 &1 3AT 10 A< #, Seaiarst 7 ¥ 15 39
AT | [t 33 A A IWP §RT I MY 3i9d ¥ (S SRMHed TIH! qeb quiifer) Frd
Fifore|

X 1.31.42
o 2.32.42
X 3.33.42
X 4.34.42

Q.12

Ans

3 T3 BT ARTE 40 B 3R ST TYWH JHUGH (L.C.M.) 351 &1 I Y =T 710
Fifrgi

& 1.13,27
X 2.18,22
X 3.11,29
X 4.6,34

Q.13

Ans

IHT B AT T41,400 B | TE 3MUAT 3T F 24% B 99d Bl 81 TS ITAPT M H 22% P
3fZ AN ok wd # 25% #) 3P AN 2, A TP A A arf|

o 1.31242 919G
X 2.31,241 S HA

X 3.%1,244 B HH
X 4.21245 B 9fa

Q.14

Ans

fiH, 234 km @ AT 78 km/hr B TTA A T BIAT €, 3T 441 km B ATAT 49 km/h B
AT A 99 DT 8 3N X ST 488 km B ATAT 61 km/h P I16 A a9 FHvan o | wgof amn
P fore IS SfTd A1 (km/hr H) fhat 82

X 1.50.87
< 2.50.13
o 3.58.15
X 4.54.83

Q.15

Ans

7 cm a1 ar@ MA F7 31 (cm? ¥, Fwean qife a quiifea) g9 i)

(T = == &1 3UunT Fifvr)

< 11442 em?
" 2.1437 em?
X 3.1436 cm?
X 41446 cm?

Q.16

Ans

fFrafafe & § S9-a1 3rquma, 99d 98187
o 1.37:56

X 2.38:75
< 3.33:54
X 4.35:80
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Q17  TH HBI A 80% B! g HIA W 2430 U BT 8| 98 WL J1d B
Ans 25 1.4050
X 2.2700
X 3.675
o 4.1350
Q.18 P P TAU AT BT 3ATS 7T, Q BT TAAH Mg A 12 a9 34w g1 8 af a1e, 39 THy Q F

3TY BT fI51 T, P D1 3T & 31T AT A 28 Y HH R Q B IAH (Mg (TuT H) J1d
Fiforgi

Ans

Ans W 1.12
X 2.8
X 3.15
X 4.7
Q.19 347 3R wRa fret Fifda &d B S 5 9k 15 3 § 1 a3 doa §1 SR |1y

fraeR w1 H31 = fovan oiiR 2 31 a1e, wRa A o Bis A siva v wrd 3t foram
o & g Hyme
1
1. i
x 13
v2at
73

1
X 34—
3

1
X 43>
3

Q.20

Ans

T3 740705 FFaferfaa & 4 fraa RAvursa 82
X 1.12

X 29
X 3.4
& 4.5

Q.21

Ans

TR A B MR 2150 U Goi- BT R A W | I9A 37 221 WA IR A R A9
foar| g Ay ufawa % g1

X< 1.66
X 2.70
X 3.72
 4.68

Q.22

Ans

TS Sdbe PT 3ifhrd Jeu 22,400 81 A1 3H 20% F1 Fe W I41 WE, &) faehy geu g1a
Fiforgi

< 1.%1,900
7 2.31,980
o 3.31,920
X 4.%2,000

Q.23

Ans

I U 9 a1 URAR &1 39d a9 F1d PHore, ORI Tewal BT g HHRM: 40 kg, 49
kg, 56 kg, 73 kg 3T 37 kg &I

X 1.52kg
X 2.53kg
o 3.51kg
X 4.50 kg
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Q24 el ag ) U arafds fApa geu & 2 W T W, TF4 $I 24% B g1 1A 81 afe

ﬁgﬂﬂﬁﬁ%ﬁﬁ%ﬁmqm%@s%wm%ﬁmummﬁml
Ans K5 1.48.7%
X 2.46.9%
X 3.47.6%
o 4.46.3%

Q.25 P qEg BT i Yo 2280 1 Sifhd TeT R 12.5% P Fe &t ST 8 TUT 40% T AH
ifofa forar wirar 8 1 avg &1 4 Yo 1d Sifre|

Ans X 1.%165
X 2.3180
o 3.3175
X 4.3185

Q.26 M and N start a business. M invests 43,000 more than N for 6 months and N invests for
7 months. M's share is 472 more than that of N, out of a total profit of ¥3,304. Find the
capital contributed by M.

Ans o 1.%1,20,400
< 2.%1,20,000
% 3.%1,20,600
X 4.%1,21,400

Q.27 At % # £10,00,000 P YRT, AP U A JAIord 811 AT 11% AP TSl ST W
o &Y oIt 81 uRusar W, 39 Y=RIRT 213,67,631 81 9l &1 o= &Y gwamafy ya

I
Ans g1 3qd

X 2. 199
X 3.25T9
X 4.35T9

Q28 A el o &Y 9 faeiY & 1 X Wawar @ SfR B I3t Hrd &Y 18 fo # @1 ¥ Awpan 71 A
3 5 fa=f 9 T 1Y B B &, A P BT fobd=T HIT Y I§ SN2

Ans 1
o 1. —

6

x2 !

6

x3 2

6

xa 1

6

Q.29 uw ot BT URATT 160 m B 1 TABT SAEA (m? F) F1d BT
Ans «" 1.1600

X 2.1588
X 3.1572
X 4.1597
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Q.30 fHfafea o wva s
3((%)}:3 — 28x + 14) — 3=+ 6z — 1)

Ans X 1.-74x - 61
X 2. 74x - 61
X 3.74x + 61
o 4. —T4x + 61

Section : General Intelligence and Reasoning

Q.1 A,B,C,D,J, Kand L are sitting around a circular table, facing the centre of the table.
Only one person sits between A and L when counted from the left of L. K sits third to
the right of J. C sits third to the left of B. K sits to the immediate right of C. D is not an
immediate neighbour of C.

How many people sit between D and L when counted from the right of D?

Ans w" 1. Three
5 2. Two
25 3. Four
< 4. One

Q2 3l quinTar wH W TR, Fafifed IR ser-aEi 4 4 99t Al s a
THIAT g 3R 39 YHR 3 TP YU §91d & | HIF-9T 3A&R-TYE, 39 JU | Jafta 7Y 82
(FYe: ST ER-TYE, TARAR] Bt I a1 ! fRAfT w smenfea ag 21)

Ans < 1.SVR
X 2. KNJ
X 3.NQM
o 4.UXS

Q.3 Each of the digits in the number 36719542 is arranged in ascending order from left to
right. The position(s) of how many digits will remain unchanged as compared to that in
the original number?

Ans «" 1. None
5 2. Two
25 3.0ne
25 4. Three

Q4 & gIen ¥ uy-Ree (?) R UR FT MTM?

1013 19 28 40 ?
Ans X 1.60

X 2.52
& 3.55
X 4.50

Q.5 g+ 3R« B IWER dg T ST T x¢ 3T +* P IR 9¢d fear oig, o Frufafaa
Tieur § uy-feg (7) & RIME W R/ 3T
93x9:9-3x8+23x6+3-3%x2=7

Ans < 1.235
X 2.274
o 3. 290
X 4.266
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Q.6

Ans

& 1 e W wy-foee (7) F R W FT ATEM?
90878378727

X 1.63

X 2.67

X 3.66

o 4.65

Q.7

Ans

If 1 is added to each odd digit and 2 is subtracted from each even digit in the number
3174658, then how many digits will appear more than once in the new number thus
formed?

25 1.0One
" 2. Three

5 3. Two
< 4. None

Q.8

Ans

Tw [Afia ge uraT A, ‘NOPE’ &Y ‘6712’ 3R ‘NOTE’ ®t 2178’ & ¥U | Heaw far Tar g1
&1 Fe yrwr A T F W pe FR?

M7

2.8

X 3.1

X 4.6

Q.9

Ans

3iPsft quinTer w9 wR SmeTid, T Mf¥a ol & CFJP &1 WY FINT & 31 39t @i 9,
QRZFW'\%%H RUDJ & 8| THTF a9 BT AJER0I 3 g, faw e fawedl & A XALR &1
ey frad 82

X 1.APOI
& 2. ADPV
< 3.ADVP
X 4.POID

Q.10

Ans

Manish starts from Point A and drives 9 km towards east. He then takes a right turn,
drives 2 km, turns right and drives 4 km. He then takes a right turn and drives 11 km. He
takes a final left turn, drives 5 km and stops at Point P. How far (shortest distance) and
towards which direction should he drive in order to reach Point A again? (All turns are
90° turns only unless specified.)

25 1.9 km towards north

«" 2. 9 km towards south
5 3. 12 km towards east
25 4. 12 km towards north

QN

Ans

Seven people, F, G, H, |, J, K and R, are sitting in a row facing North. Only two people sit
between H and R. Only F sits to the right of J. Only one person sits between R and J. G
sits at some place to the right of | but at some place to the left of K. Who sits third from
the right end of the line?

X 1.1
X 2.4
o 3.K
X 4.G
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Q.12 Seven boxes C, D, E, M, N, O and P are kept one over the other but not necessarily in
the same order.
O is kept second from the bottom. Only three boxes are kept between O and E. P is kept
at one of the positions below O. Only M is kept between E and D. C is kept at one of the
positions above E.
How many boxes are kept between P and C?

Ans 25 1.0ne
X 2. Three
& 3. Five
25 4. Four

Q.13 & S gaen ¥ uy-RIg (?) F R W T ATEM?

271216172139 117 ?
Ans " 1.106

X 2.1
X 3.82
X 4.95

Q.14 This question is based on the five, three-digit numbers given below.
(Left) 285 106 346 349 408 (Right)

(Example- 697 — First digit = 6, second digit =9 and third digit = 7)
(NOTE: All operations to be done from left to right.)

What will be the resultant if the third digit of the highest number is added to the third
digit of the lowest number?

Ans X 1.12
X 2.8
X 3.1
414

Q15 g+ 3R x’ P! R 95 1¢GT ST U7 “+’ 3R —* P} R 95 fear wg, o FFafefaa
it # uy-fag (7) & RIE W 1 M

38—8+2+16%x8="7
Ans ¥ 1.52

X 2.54

/< 3.55

X 4.53

Q.16 BT g Pam A M F 279 R W TUT 2 A 169 WM R g1 TSB! Ham | fhad
faemfi 82

Ans X 1.41
X 2.44
o 3.42
X 4.43

Q17  Fufafed & & $H-91 seR-HE g & 7 Rad # yy-RE (7) F A R\ IR A
Sigel aTfdhes U & gui gt wmgeft?

A25D E36H 149L M64P ?
Ans X 1.R81U

X 2.881T
o 3.Q81T
X 4.R81S
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Q.18 s fAfYa afF |, TG 21 BT YGY OF 4 ¥ g1 I TP |, LE 18 HTTHIY GC 1 A 81 UM
T BT 3FEIU Hd T, RT 26 1wyl fFrafafaa & 3 frad 82

Ans X 1.LS11

X 2.LR1M
o 3.MR9
X 4.LR9

Q.19 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some plants are trees.
Some trees are grasses.

Conclusions:
(I) Some plants are grasses.
(I1) Some trees are plants.

Ans 25 1. Only conclusion (1) follows.
" 2. Only conclusion (Il) follows.
25 3. Neither conclusion (1) nor (II) follows.

2% 4. Both conclusions (1) and (lI) follow.

Q.20 fAgfiafld & @ HI9-T7 eR-TB g < T Saar 3 uy-Rg (7) FR_A RW@ A I
oG dlfhd U A QUi g wTeeft?

WDK 84, BIP 79, GNU 74, LSZ 69, QXE 64, ?
Ans o 1.VCJ59

X 2.VCl49
X 3.VYJ 61
X 4.UCJ 59

Q.21 fafafEd W ik e e o1 dg Ao HiE faw e uy o1 IR difv fed
Fad 918 I gIT BT AT AR

@) 2@2#*08um301569$48&9p9 (3N

T foramt wdli® §, o die uga ve guif o e oiRk die are # +ft e quf avf wen 82
Ans X 1.UM@

X o2.a

o 3.7

X 4.T®

Q.22 Person X starts from point A and drives 5 km towards the south. He then takes a left
turn, drives 5 km, turns right and drives 5 km. He then takes a right turn and drives 7
km. He then takes a right turn, drives 10 km. He then takes a final right turn and drives 1
km and stops at point B. How far (shortest distance) and towards which direction
should he drive in order to reach point A again? (All turns are 90 degrees unless
specified)

Ans X 1.2km east
o 2. 1 km east
25 3.1 km north
25 4.2 km west
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Q.23 ot fAfda B YTaT A, ‘FORM’ F1 ‘4629’ & U | Heas [T oITaT 8 3R ‘RISE’ BT “1395°
% ¥ H geas fpar arar 31 1 1€ g wTw § R S R ge wng?
Ans S 1.6
X 2.5
X 3.1
4.9

Q.24 3FIh quigTar HH F YR R, Fufifad TR ser-wgg T # A f9 e A e a
THIAM ¢ 3R 39 UPR 3 TP YU T914 ¢ | PIF-971 3H&R-THE T I JU A Hafia a1 82
(FYe: SR HER-THE T, ITH so1aR) &) =T a1 3ot fRufa uv smenfa 18 21)

Ans X 1.MQ-PT
& 2. NR-OU
X 3.IM-LP
X 4. EI-HL

Q.25 3Rl quinTar wH W suTid, Fafafed IR ser-TE g ¥ A e A P I
U € 3R 39 UPR 3 TH YU §914 ¢ | HIF-TT &R-THg F¥, 39 Ju | Jafira 7Y 82
(FYe: ST H&R-THE i, SSIR) B HE a1 3991 fRufa w ey &Y 21)

Ans X 1.XN-DK
X 2.QG-WD
X 3.KA-QX
& 4.DS-JO

Q.26 R is the brother of C. C is the sister of A. A is the father of G. G is the son of H. How is R
related to H?

Ans X 1.Husband's father
25 2. Husband
25 3. Brother
" 4. Husband's brother

Q.27 Read the given statement(s) and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusion(s) logically follow(s) from the
statement(s).

Statements:
No Police Officers are Pilots.
All Pilots are Soldiers.

Conclusions:
I. No Soldiers are Police Officers.
Il. Some Police Officers are Soldiers.

Ans «* 1. Neither conclusion (l) nor (ll) follows.
25 2. Only conclusion (Il) follows.
25 3. Both conclusions (1) and (II) follow.

£5 4. Only conclusion (1) follows.

Q.28  3ISH JUIATAT PH P YR W, TP fAfYT d¥1P ¥ RBNE &T JaY VXRA T g1 I v
zww%mi-q‘%r DPZS | | GUTH dh BT 3JEVT Hd §U HLDO &1 Iay Fafafaa d &
Ias'\qﬁ ?

Ans o 1. LHHK
X 2.LGFK
X 3.MFGJ
< 4. KGHL
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Q.29

Ans

gggﬁagﬁa?&nﬁnﬁéﬁ%&mwamﬁﬁsﬁmw%lwaﬁas&nﬁ'gmmﬁ
?

X 1.72
& 2. 71
X 3.73
* 4.70

Q.30

Ans

=TT Ha i § 1

(FAte: TS B 3T gew 3@l # as faa, gof sensi w whkart #1 o =afeg)
IETE1 & 1T 13 AT - 13 TR HihaTe 9 13 & Site1/ & | 921/ & |1y YOI A1
31 fFaT ST Wha1 81 13 B 1 3R 3 H digAT a1 fR 1 3R 3 W g Tfrard s &
rgufa g 81)

(5,12, 7)

(22, 30, 8)

< 1.(35, 63, 25)

X 2.(25,30,2)
X 3.(18,24, 3)
& 4.(18,31,13)
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